Unit 6 Review Packet Name VKALUA _

Evaluate the expression without a calculator.

1. (82 2. 274 @ 3. (C6)’
Solve the equation. Round the result to two decimal place when appropriate.

4. 5x* =1080 5. x6—34 =181 6. (x—5)" =256

Write the expression in simplest form. Keep exponents positive.
9. A3-13)2

7. 88 8 2= 3(ya
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Simplify the expression.

10. — 632 + 24256 11. 1242 - 74512 12. 241250 - 8332
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Find the domain of the following functions:

13, .x_z_ 14, L. 15. \x+5
X% 7 X =5
16. £ 17. \3=x 18. Vax -5
=3 ;
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Let f(x)= —2x} and g(x) = 7x} . Perform the following operations. Then find the domain.
19. f(x)+g(x) 20. f(x) - g(x) 21. f(x) * g(x) 22. f(g(x))
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Find an equation for the inverse relation.

23,y="\%)‘“5 24,_)}25)4:-4-l 25. y=10x—28
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Does the following graph represent a function? Does its inverse represent a function?
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Verify that f and g are inverse functions.

f(x) = %x —1,g(x)=5x+5 flx) =2x+3,8x) = —-x —i

29.
£0q00) = % = g (F6) Fres) Pla(x) 47 qmm @

State the parent function and the transformations to the parent function in words before graphing the function.
Then state the domain and range.

28.

V3232 Shvedels 3, gt L 3ym W2 cflect, up 2
u‘oz_

32. y=2Vx+2-3 Steten 2, tef+ 2, 33 p=2F+1 Shetch 2 vp |
dowin 3

Solve the equation. Check for extraneous solutions.

34 Ix-13= -7 35 ax+2-6= —10
36. 8V10x—-7=9 37. -2x+3-2=10




